
(Pr.No.2221)

１次方程式 移項を理解するための基本問題

Ⅰ 次の方程式を解きなさい。

① ８ x＋３＝７ x＋１０

答．

② ７ x－９＝６ x－１２

答．

③ ー５ x－２＝１６－６ x

答．

④ ４ x－１３＝３ x＋７

答．

⑤ x＋２＝－８

答．

⑥ x－６＝－９

答．

⑦ ２ x＋３＝９

答．

⑧ ３ x＋５＝１７

答．

⑨ ２１－４ x＝１６－５ x

答．

⑩ ４ x＋７＝２ x＋１３

答．

⑪ ６－ x＝ー３ x＋１２

答．

⑫ ９ x－１２＝６ x＋３

答．

⑬ ２ x－２＝１２

答．

⑭ ９ x－７＝２ x

答．

⑮ ４ x－７＝２９

答．

⑯ －３ x－５＝４

答．



(Pr.No.2222)

１次方程式 基本形の練習問題 １

Ⅰ 次の方程式を解きなさい。

① x＋５０＝２１

答．

② ６＋７ x＝－２２

答．

③ －２ x＋６２＝１００

答．

④ －１２＋ x＝－３

答．

⑤ ４ a＋８＝６ a－５

答．

⑥ ３＝４ x＋１１

答．

⑦ １０－ y＝３ y＋１８

答．

⑧ －２１＝１２ x＋３

答．

⑨ ９＝４ a＋７

答．

⑩ ３ x＋１０＝６ x＋１

答．

⑪ ２ x－１＝ x＋４

答．

⑫ － x＋３＝－５ x－１

答．

⑬ ９ x－１５＝－ x－１５

答．

⑭ ６ x－２＝－３ x＋１

答．

⑮ x＋２ x＝４ x－９

答．

⑯ １０－ y＝３ y＋３０

答．



(Pr.No.2223)

１次方程式 基本形の練習問題 ２

Ⅰ 次の方程式を解きなさい。

① －１＝１２ x－１

答．

② ２１－４ x＝１６－９ x

答．

③ x＋７＝２ x＋１０

答．

④ １９＝４ a＋３

答．

⑤ ５ x－２＝３ x－６

答．

⑥ ４ x＋５＝７ x－４

答．

⑦ ３－ x＝６

答．

⑧ ２ x－６＝３ x－１

答．

⑨ － x－１＝－５

答．

⑩ ８－４ x＝１２－６ x

答．

⑪ １０ x＋１５＝－５ x＋１２０

答．

⑫ ２ x-５＋８ x＝１１＋７ x＋２

答．

⑬１３ー５ x＋７＝ x＋３２－２ x

答．

⑭ y＋９ー６ y＝３０＋５ y－２１

答．

⑮ ６ x＋２＝４ x＋８

答．

⑯ １０ x－２＝９ x＋７

答．


